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TIME: 2 HOURS
INSTRUCTIONS:   Answer Question ONE and any other TWO Question
Question One 
a)
Find 
[image: image2.wmf]dx
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(5 Marks)
b)
At every point on the curve f (x) the gradient is given by 
[image: image3.wmf].

3

)

1

2

(

+

-

x

x

 Find the equation of the curve f (x) given that it passes through point (1, 0)

(6 Marks)

c)
Find the slope of the curve 
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at point (1, 1).
(5 Marks)

d)
Write the following function into its partial fractions 
[image: image5.wmf])
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(5 Marks)

e)
Find the area between y = cos x and y = sin x, 
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(5 Marks)
f)
Express 
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in the form atib where z = x + iy.



(4 Marks)

Question Two (20 Marks)
a)
Evaluate 
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(7Marks)
b)
Find 
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(5 Marks)

c)
Find 
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x

x

ò

-

-

+

+

5

7

3

1









(5 Marks)

d)
Find 
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dx

x

x

cos









(3 Marks)
Question Three (20 Marks) 

a)
The price p (dollars) of each unit of a particular commodity is estimated to be changing at the rate 
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 where X (hundred) units is the consumer demand (the number of units purchased at that price).  Suppose 400 units (x = 4) are demanded when the price is 30 dollars per unit;
(i) Find the demand function P (X)

(ii) At what price will 300 units (x = 3) be demanded?  At what price will no units be demanded?

(iii) How many units are demanded at a price of 30 dollars per unit?

(8 Marks)

b)
Sue and Tom are travelling in a car with a broken odometer.  In order to determine the distance they travel between 2 and 3 p.m.  Tom (the passenger takes speedometer readings (in mph) every 5 minutes.
	Minutes after 2p.m
	0
	5
	10
	15
	20
	25
	30
	35
	40
	45
	50
	55
	60

	Speedometer reading
	45
	48
	37
	39
	55
	60
	60
	55
	50
	67
	58
	45
	49



Use the trapezoidal rule to estimate the total distance travelled by the pair during the hour in question.







(5 Marks)
c)
The number of voters (in thousands) in a certain city is given by 
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where t is time in years.  Find the average number of voters during the time period form t = 0 to t = 5.




(5 Marks)

Question Four (20 Marks)

a)
Express 
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(5 Marks)
b)
Find the roots of the equation 
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(7 Marks)

c)
Find 
[image: image16.wmf]dx
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(8 Marks)
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